Timester Challenge
Arc Length

Calculate the length of the arc AB.
Give your answer in terms of pi.
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Calculate the perimeter of the sector.
Give your answer in terms of rtin its
simplest form
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Work out the length of the arc AB.
Give your answer to 3 significant figures.

Calculate the perimeter of the sector.
Give your answer to 1 decimal place. g
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Six pipes are held together with a band on the
back of a lorry. The figure below shows the
bottom of the pipes and the band.

Each of the pipes has a diameter of 24 cm.
Find the length of the band in this position.
Give your answer correct to one decimal place.
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Calculate the length of the arc AB.
Give your answer in terms of pi.
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Calculate the perimeter of the sector.
Give your answer in terms of rtin its

simplest form _ 4
Arc = 360 X1 X 16.8
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=21mcm

Perimeter = 2.1mr 4+ 16.8cm
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Work out the length of the arc AB.
Give your answer to 3 significant figures.

Calculate the perimeter of the sector.
Give your answer to 1 decimal place. g

Angle = 360 — 110
= 250°
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=349cm

Perimeter = 349+ 8+ 8
=509 cm
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Six pipes are held together with a band on the
back of a lorry. The figure below shows the
bottom of the pipes and the band.

Each of the pipes has a diameter of 24 cm.
Find the length of the band in this position.
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48 cm Quater of a circle.
<—>
)/'here are four of these.

Length of Band
48 + 24 + 48 + 24 + 24n
=2194cm (1d.p.)
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